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Fill in the blanks with appropriate article. Cloth is sold by ...... metre.

(V) a3 - (?) an

(3) the (¥) None of the above.

Fill in the blanks with appropriate word. Both ...... brothers live together.
(%) of (R) the (3) a (¥) an

Fill in the blanks with correct verb. B

Food prices ....:. a new high.

(%) thouch ~ (R) thouches (3) been touched  (¥) had touching

Choose the correct sentence of the following.
(2) Ishall be so busy tomorrow that I shall not be able to receive any visitors.

(?) I'will be so busy tomorrow that I would not be able to receive any visitors.
(3) Ishall be so busy tomorrow that I could not be able to receive any visitors.
(¥) None of the above.

Rewrite the following sentences in the Assertive -

‘Who was there to listen to her appeals?
(2) There is any one to listen to her appeals.

(R) There was no any one to listen to her appeals.
(3) No one could listen to her appeals. -
(¥) There was none to listen to her appeals.
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Transform the following simple sentence into complex sentence -

It all ended according to my expectations.
(%) Itall ended as I had expected. '

() It all ended as I have expected.
(3) It all was ended as I expected. :
(¥) Iexpected that it should ended as my expectation.

Put the following sentences into indirect speech.

My sister said to me, You look hungry: Shall I go and bring you some fruit?
(2) Mysister told me about my hunger and she wanted to go and bring me some fruits.

(]) My sister told me that I looked hungry. She offered to go and bring me some fruit.

" (3) My sister told me that I looked hungry and she wanted to went and brought me

some fruit.

(¥) My sister asked that T had looked hungry and she offered to go and bring me some
fruit.

Make it singuler noun : draughts

(%) draughte () draughts * (3) draughtes (¥) draughtées
Choose the correct sentence.

(2) I'have lost a ten rupees note. (R) I'have lost a note of rupees ten
(3) Thave losted a ten rupees note (¥) Thave lost a ten-rupee note.

Choose the correct sentence.
(%) The climate of Mumbai is more pleasant than Delhi.

(2) The climate of Mumbai is as more pleasant than of Delhi.

(3) The climate of Mumbai is more pleagant than that of Delhi.

(¥) The climate of Mumbai is more than pleasant as of Delhi.

Suggest synonym for the following word : incessant.

(2) angry (?) continuous (3) insane (¥) cleaver
Suggest antonym for the following word : wearisome

(2) refreshing () bored (3) refined (¥) unwearable

Write the correct meaning of the word: conceal.
(%) camouflage  (R) camoflage (3) comoflague (¥) camoflag



¥.3%. Make noun from the following word : Admiit.

(%) Admitiance () Admission (3) Admitance (¥) Admittable
9.%¥0. Make adjective from the following word : sight. ‘
(2) visible (?) sightable (3) sightful (¥) vigilant
9.¥%. Give meaning of the following phrase. de novo 3 :
"~ (2) old (R) fancy (3) novel (¥) anew

u.%2. Choose the correct alternatives from those given below:

. It has been raining for the past five days [ wish it ......
* (2) would stop raining. . (R) stopped to rain.

(3) stopped raining. (¥) were to stop raining.
¥.%3. Fillin the blanks with appropriate word..

It has to be seen ..... b : S

(%) tobeen belived ' (?) to being believed

(3) tobe believed ; (¥) tobelive
u.¥¥. How many friends helped you? In passive voice, this sentence will be written as -

(2) You were helped by how many friends?

() Were you helped by how rﬁany friends?

(3) How many friends were you helped by?

(¥) How many friends you were hclf;ed?

Choose the part in which you find an error. If there is no error, then choose

option (4) :- _
w.¥4. Until/ you remain restless / you cannot concentrate / No error
(2) A (B (3) C (¥) D
u.¥8. The colby_r_ of her cheeks / is / like a rose / No error
(2) A (R)B ' (3)C (¥) D

Choose the expression that explains the given word correctly:
T.¥e. Explicit: ;

(2) Trade prohibited by law.

(R) Drawing out a secret from somebo-:ly;
(3) Statement that is absolutely clear.

(x)’ Comparison that is out of place.
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Curator: :
(2) One who cures diseases.

(3) One who is officially in charge of a museum or art gallery.
(3) One who makes and repairs knives and other cutting tools.
(¥) One who sells soaps, oils, candles etc.

Choose the correct word for the following.
A person who is womanish in his habits.

(2) Feminist () Effeminate (3) Philanderer (¥) Philogynist
Complete the following idioms with appropnate word given below.
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